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Question Number : 1 Question Id : 3354725531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ‘Golconda Fort’ is located in which one of the following states? | “Mage e Famg # & e o 8 e
7

Options:

1. ® Karnataka | #=lc®

Z % Maharashtra | AgWIE

3. # Madhva Pradesh | Feawdar

4. ¥ Telangana | @T=T

Question Number : 2 Question Id : 3354725532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Narme the tribal cormrmunity which actively participated in the revolt of 18577 | 1857 @ fdgig H 9l &7 9 |17
i It SITTCaTar T T A1 47 57

Options:

1. % The Ehils | #&

2. % The Gonds | Mg
2. % The Korku | #Rg
4. % The Ehaiga | &

Question Number : 3 Question Id : 3354725533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where are the famous Dilwara Temples situated? | Tieeg TmaTeT AleT w571 2@ &7

Options:

1. ¥ Madhya Pradesh | Hea 0
= ¥ Rajasthan | eI

= ¥ Karnataka | ®ic®

4. % Maharashtra | AgRIE

Question Number : 4 Question Id : 3354725534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which among the following is NOT a region of Madhya Pradesh? | FEc T § 9 &9 97 87 R 02 # 751 27

Options:

1. ¥ Chota Nagpur | $12T 9T
2. % Malwa | HTaar

% % Bagelkhand | Fuaars

4. ¥ Mahakaushal | FETETIA

Question Number : 5 Question Id : 3354725535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who founded the Tata Institute of Fundarmental Research? | TTeT e SRIHT S0 & S0 e 17
Options:

1. ¥ 5.5 Bhatnagar | 7.0 9S40
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= % H.]. Ehabha | 7= 9T

3. % MIN Saha | U U EET
4 ® v Sarabhai [ o ARTE

Question Number : 6 Question Id : 3354725536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Inn which national park will vou find Shesh Saiva, a unique eleven-metre long statue of a reclining Lord

Vishnu? | o T8 Jem | oI AR e Towo] & effgd e =Ry Hiet se HiaHT, 99 927 B 9
Options:

1. ¥ Bandhavgarh National Park | aTeEmg T8 324

2 % Fossil National park, Sahpura, M.P. | Siamed T8 32, 9500, A0

% % Indravati National Park, M.P. [ 2T (9 321, AL

4 % Borivali National Park, Murnbai | @ieies e Jem-, gas

Question Number : 7 Question Id : 3354725537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the unit of measuring energy requirements in the human body? | AT 0T H F41 sasadmaTatt & a1 &f

SIS T £7

Options:

1. * Joule | e

2. % Erg [ amf

% *® Kilowatt | framane
4. % Calorie | FAm

Question Number : 8 Question Id : 3354725538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where was the revoluticonary, Chandrashekhar Azad, killed in a shooting encounter with the police in a pulblic

park in February 19317 | BRatl 1931 # Ua A= I & gier & aner iietan) gads # wiae’ dgdwe s 1
FET ATET 7T 4077

Options:
1. ¥ Allahabad | EEIECIE
= % Yaranasi | TR

3. % Gorakhpur | TRETT
4. % Lucknow | @@

Question Number : 9 Question Id : 3354725539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“World Press Freedom Day’ is celebrated on _______ of every year. | 'ToFa U Tad=ar e, madw ey ________ T
AT AT 2]

Options:

1. % 3rd May | 3 A
2, % 17th May | 17 78
3. % 25th May | 25 7%
4 % 12thMay | 12 78
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Question Number : 10 Question Id : 3354725540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who presides over the joint sitting of the Parliarment? | THg & HJh da® &1 STETEaT &1 Bl 57

Options:

1. ¥ President | TTedf

2. % Vice President | 37 TE0T

3. ¥ Speaker | ey

4 % Chief Justice | T&I ~mTeta

Question Number : 11 Question Id : 3354725541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich one of the fOllOwiﬂg COMITISSI0NS was ap%inted by the Central Gosernrnent orn Certre-5State

relationship in 19837 | 1983 § dhg-T=4 deell U7 g GCRR ZRT 49 # & @19 &7 22 (g Taa mar ar?
Options:

1. ¥ Rajamannar Cormmission | T=AGE AT

2. % Sachchar Commission | ®Z[T AT

= ¥ Sarkaria Cormmission | SEETICAT ST

4. % Shah Cormmission | 9ITg ST

Question Number : 12 Question Id : 3354725542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT included under GST regime in India presently? | Fgfaied & § #9 adaH # wra o
STEET SaeT o SaTid ATHe ARl 57

Options:

1. % Agricultural produces | §i¥ Fe0Te

2. ¢ Petroleum products | UEiTeaW 3008

3. # Telecomrmunication devices | SUE=ITT JHHT

4. % Handicrafts | geaiden

Question Number : 13 Question Id : 3354725543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Resul Pookutty won an Oscar for ________ A eI o TorT afTemy Sfiam

Options:

1. % packground music | T H@IT
2 % art direction | T FoaE

2. * lighting | Wmar

4. ¥ sound mixing | e o

Question Number : 14 Question Id : 3354725544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where was the World Conference on Environment 2017 organized?| 2017 # waiaem 0¥ @ GFia- F51 g
T T AT ?

Options:

1. ¢ New Delhi | =8 Taadt
2. % Ehopal | 4T
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3. ® Indore | g2
4. % Jaipur | S

Question Number : 15 Question Id : 3354725545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Kohira darm is located in the R0 1A k11 A H T 21

Options:
1. ¢ Kairmr District | 7 Fer

2. % Shivpuri | T9Eger
2 ® Rewma | T&T
4. ® Dhar | 9%

Question Number : 16 Question Id : 3354725546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following districts of Madhya Pradesh is Shahi Masjid and Moti Masjid located? | Fe HaT &
T Fat § & e gt afeag o At T By

Options:

1. % vidisha | [&fzam
2. % Singrauli | FAREAT
3. % Katni | er

4 % Dhar | oW

Question Number : 17 Question Id : 3354725547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Bansagar Darr 15 built across the

Options:

1. ® Narmada | F8gT
2. % Godavari | T
3. % Chillar | Bt

4 % Sone | 94

Question Number : 18 Question Id : 3354725548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which place is popularly known as the Kashrmir of Malwa? | @19 |7 @I ATAdT & FIHT o 0 1 @Ald 0 57

Options:
1. % MNarsinghgarh | &S

2 % Shivpuri | T&Eger
3. % Saragpur | HOTYY
4. % Byawara | =TT

Question Number : 19 Question Id : 3354725549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is JThinjhari village in Katni famous for? | @e-r # 2o ma o o nieeg 37

Options:
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1. ¥ Rock/cave paintings | @51 | & REERT
2. % Shiva temple | T Afy

3. % waterfall [ AT

4. % Irrigation Project | =g afegt==m

Question Number : 20 Question Id : 3354725550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who constructed the Khajuraho temples? | GeRTg! At &1 fFmior e e
Options:

1. % Maurya | A1

2. % Gurjar Parihar | ToX TRER

Z. % Shank Satvahan | 99 @@argT
4. % Chandel | =

eneral Maths and General Aptitude

Section Id : 335472139

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472139
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Five students obtained 14, 12, 18, x and 20 marks in an exam. If the average rmarks of the group are 15, find

the %ue of x7 | Ut el uw ultgr & 14, 12, 18, x o 20 25 WIH & 81 Al g & e f 15 2, a1 & 79 ®1
= 16 T

Options:
1. % 12
= % 13
3. ¥ 11
4. % 14

Question Number : 22 Question Id : 3354725552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Look at the string EXAMINATIONSEXAMIMNATIONS | EXAMINATIONS with EXAMIMNATIONS repeated 10 tirmes.
Iri stage 1, letters in everl position are deleted. I stage 2, again letter in the even position in the residual string
are deleted. This 15 repeated till WO a1 left with a single letter. What is it? )

EXAMINATIONSEXAMINATIONS . EXAMINATIONS agaﬁﬁﬂﬁﬁﬁmmmgﬂoms El 109X g a1 =T 1
H | T o Syt T geT T S 51 =0T 2 H A G H el U Syl H W T Hw i @ a1yl e i S gl g e ae
TIECTAT AT & el T 197 SITTeF U S1ehelT S14% 51 75 AT 31 % 74T 57

Options:
1.% M
2. %N
2% ]

4 ¥ E

Question Number : 23 Question Id : 3354725553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sita began reading & pages of her book on the 1st day, 9 pages on the 2nd day, 12 pages on the 2rd day, 15
pages on the 4th day, and so0 on. How many pages will she read on the 10th day, if she continues in this

pattern? | GaT+ ugel T SIoT geder & 6 Y g WA ford, g Ta 9 ug, e T 12 us, oitel T 15 g, oY Iy g6 wee
=IerdT TgN A7 9 g6 G # S g1 8, a1 Ay 10 fo ford g8 ugite

Options:

1. % 35 pages [ 328
2. % d0pages [ 40 gF
3% 42 pages [ 42 7
4 % 45 pages [ 45 g8

Question Number : 24 Question Id : 3354725554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The prime numbers between 10 and 40 are ______ 10 3T 40 % AT arTeg el i ' 2l

Options:
1. %7
2. ¥ g
2% 9
4 % 10

Question Number : 25 Question Id : 3354725555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the remainder when x* — 3x* + 4x? — Tx + 6 is divided by x — 27 /T =x* — 3z +4x? -
Tx+ 6 &l x—2 SaRT Taefoia fmar Sar § o 9wl &= giar g2

Options:

1. %5

2. %0

3% -6

4 % 10

Question Number : 26 Question Id : 3354725556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

Which of the following polynomials has x+ 1 asa factor? /fAeaRfEa d a wla & dguc
& x+ 1 U AOTES &7

Options:

| % P E2xi+x 41

5 % x4+ 3x3 4+ 322+ x+2

3 xa—xz—(E-I-*u"E)x—‘u'E

4 % 3x>4+3x24+2x—2

Question Number : 27 Question Id : 3354725557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

£+£:@
B2

Options:

I |k

L
4
S

NN
4
&5

Question Number : 28 Question Id : 3354725558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
v0.4=7

Options:

1. % 00z

2 %0z

= ® 0446

4. ¥ 0632

Question Number : 29 Question Id : 3354725559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Find the average. | sf|g e

17,70, 30, 29, 19
Options:
1. % 32
2. % 33
3. % 34
4 % 35

Question Number : 30 Question Id : 3354725560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pyl IELI‘EE[ of a trapEzium with pEIlI'ELHEl Sides & CI'II'l ard 7 cm and distance betwesnl therm Equal toecmis |99
el BT e 19 e, Tk GHIGE 9ol S 6T U= 7 QHT T Sefek sifer %1 gir 6 AT 3l

Options:

1. % 12 sg.cm | 12 aiigdr

2. % 210 sg.cm | 210 FradT

= ¥ 36 s5q.0m | 36 FTEET

4. % 105 sg.cm | 105 Fradr

Question Number : 31 Question Id : 3354725561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A man loses 20% of the money he had. After spending 50% of the remaining money he is left with Es. 50. How
much money did he have initially? | U@ J&T & 38 U i L= @1 20% Ter ST TR 3F S0% SO W o U
JHF U S0 T 89 751 WP H 3 O [Sra-T ameiar ot

Options:

1. % Rs. 1250 | 1250 #y3
2. % Rs 1000 | 1000 #03
3. % REs. 750 | 750 ¥

4 % Rs. 500 [ SO0 T

Question Number : 32 Question Id : 3354725562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio of present ages of Ram and Bala is 1.3 and three vears back the ratio was 1.5, respectively. What will
be the present ages of Ram and Bala? | 117 2 aTaAT &1 o BT 3179 7 ST 1.3 & o § 19 a9 g S507d #0a 1.5 om
T &1 aTAT T ST T BT

Options:

1.¥ 6and 18 vears | 6 3T 18 a9

2 % land Zvears | 1 3wz a9

Z % 2and Gvears | 2 3w Oy

4. % Sand 15 years | 5 3T 15 a9

Question Number : 33 Question Id : 3354725563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& 15 thrice as good workran as B, A can finish a piECE of work in 40 da‘j.FS less than E. In how man da‘j.FS will
they together be able to do the work? | &, B & H 1 THT F AT §| T 1 R WoH @ WA, B # 40 [T e o
AT | ST FT e G e Een wee | fepae fa e

Options:
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12 &
15 &=
158 &
20 &

1. % 1z days
Z ¥ 15 days
3. % 15 davys

!
!
!
4 % 20days |

Question Number : 34 Question Id : 3354725564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
£ years ago, the father's age was four times the age of his sorn. The total of the ages of the father and the son

after € vears will be 54 years. What is the father's present age? | 6 o ug, a1 & g Iad 07 7 &2 &1 = 1747 2
6 o T AT & UF & e e 54w gt foar & T Tt 27 ® TSR i

Options:

1. % 30 years [ 30 T4
2. ® 36 vears | 36 a9
3 % 24 vears | 24 99

4. % None of the above | J0d% # & #1E T51

Question Number : 35 Question Id : 3354725565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If three nurmbers are chosen from 2,4 5 6,7, 8 9 10, 11, SU:CI] that their sum is 25, then the largest rarrber
possible in such a setis___. [ 91¢ 3,4,5,6,7,8,9,10,11 # & 19 G0 56 Wb ¥ =14 H1 AT & 19 I01 AT 25 FT, 9156
A H SHTieT g g g

Options:

1.9 11

2 % 10

3 % g

4 % g

Question Number : 36 Question Id : 3354725566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If x + 2/x =2x, then what is x2? / IfE x+ 2/ =2x, dT=x? =T &7?

Options:
1. % 4
= 2
3% 3

1
4 % *

Question Number : 37 Question Id : 3354725567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 476487 is divisible by 9, then the least value of A+E is
______ 7l

Options:

1.3

| AT ATE4ET, 9 ¥ ST 5 9T A+E T afeua A A
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2. % g
3.% 9
4 % 12

Question Number : 38 Question Id : 3354725568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the f@llomﬂn%cannot be a pair of nurmbers, if H.CF. of two numbers is 257 | 4fg o demsl #71 Agan
AATOEcE 25 B, 91 9 § | @ A1 9 Seanel #1 g 951 5f Jary

Options:

1. ¥ (50, 157)
2. % (150, 250)
3. % (125, 175)
4 % (50, 150

Question Number : 39 Question Id : 3354725569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The price of a watch is Bs. 450. It further increases by 30%. What is the new price of the watch? | U@ 92T 6
FIAT 450 707 71 g T S0% oF AET 51 TS T & A2 FIAT F4T 57

Options:

1. ® Rs. 540 | 540 ¥
2. % Rs. 595 | 595 T
3. % Rs. 570 | 570 ¥

4 ¥ Rs SRS | 585 T

Question Number : 40 Question Id : 3354725570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the largest three-digit nurmber which gives a rermainder of 2 when divided by 3, 4, and 5. | J@ 14 s/
ASoH G0 &1 AT @t o 3,4 3 5 g7 ST @ O She 2 THEaT 8

Options:
1. % 902

2. ¥ 95z
3. ® 99z

4. % None of the above | I § & F1E 51

Cereral Hindi

Section Id : 335472140
Section Number : 3

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20
Display Number Pane: Yes
Group All Questions: No
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Sub-Section Number: 1
Sub-Section 1d: 335472140
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A g aEga I g -
Options:

1.9 gaif

o ® gt

3 % g

4. % Farg

Question Number : 42 Question Id : 3354725572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Options:

1. % HTgam™ET
2. % qmr

3. ¥ OEE T
4. % Taqmr

Question Number : 43 Question Id : 3354725573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T[T & ST O 221 1 Tera=r i § Tarhaa T mam 27

Options:

1. ¥

2. % 9

3. % aE

4 & 4t

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 44 Question Id : 3354725574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tt dreg # o woRTe T g B 7

Options:
1. % apgATied Heelt
2 % ggm o el

Question Number : 45 Question Id : 3354725575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘TA U T A1 o’ 5 A B I T @ o d e
Options:
29th Dec17 Shift 1



29th Decl17 Shift 1

1. % g7
2 ¥ am
% % Ef
4. ® forr

Question Number : 46 Question Id : 3354725576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘UF T G iaar e o e | g

Options:

1. v 79
o % g
3. % grar
4. % g

Question Number : 47 Question Id : 3354725577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“Foregth U 2T 9 AT g F W U ves e H g @ ar e

Options:

1. v ammgHi
2 % gt
3 % st
4 % gt

Question Number : 48 Question Id : 3354725578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Tgied I A Teig MR d g am are?
Options:

1. % g+

2. ® g+ 3T

3% O+ Fed

4 9 o + 359

Question Number : 49 Question Id : 3354725579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘AT AW g AR E T AT Y
Options:

1. % gy

2. ¥ gt

3. % ART

4. % qwRT

Question Number : 50 Question Id : 3354725580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T T ST e Mg H A BT ATE?
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Options:

1. % qug
2. % ger
3 % guft
4. % wer

Question Number : 51 Question Id : 3354725581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T WO AT Sed A H H B AT 57
Options:

1. ¢ Tmit
o % fg
z % 2o
4 % v

Question Number : 52 Question Id : 3354725582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TmiiET e H PR H S A aeE R

Options:

1. % e |He
2 % e

3. ¥ JoyTy 9AT

4, ® ity gumg

Question Number : 53 Question Id : 3354725583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T AT Ggrae 1 aff T H g @ ar ey
Options:

1. & Ot d Tderrag @

o % ey AT

3. % T TR AT

4 % F H FAEGHET

Question Number : 54 Question Id : 3354725584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘UATHT FT 4 T G H AR ATE?
Options:

1. et

2 ® T

3. % ot

4. % et

Question Number : 55 Question Id : 3354725585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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T
R R e e e
Options:

1. % Frreg

o % g

. % oRF T

4 ¥ dR

Question Number : 56 Question Id : 3354725586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
" TR T S0 Y, el YT BT |
TR TR A aﬁe?grrﬁsﬁm"

H I AT adw R 5 T5f fowed gy
Options:

1. ¥ w0 STAFT

2. ® HiF STAGN

= o A AEAw

4. ¥ FTUT AT

Question Number : 57 Question Id : 3354725587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TR aTeg H &1 AT TAT & -

Options:

1. % & 9|

2. ® FHuwg A
3. ¥ et O aae
4. ¥ Foyey qa

Question Number : 58 Question Id : 3354725588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tereren | SF THIT Ofteait § © JUHT AT & JSIRE0T E ad ey —
Options:

1. % STer G0 99 91 IR

2. & Ig TTSRET | o1 A A A

3. ® & I A of 9 A, T GFe Aae T T

4. % I A6 AT AT & R, @ F e T AT T

Question Number : 59 Question Id : 3354725589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

" EEITCATE ! o e T -
Options:

1. % &9
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Question Number : 60 Question Id : 3354725590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘T H T SUE e e
Options:

1 ¥ 3

2. %A

3. % E

4. % a7

Fural Econorry and Panchavati Eaj

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions;

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

335472141
4

Online
Mandatory
20

20

20

Yes

No

1
335472141
Yes

Question Number : 61 Question Id : 3354725591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following functions come under the purview of Janpad Panchavats? | Faiatas # & #1991 &

AT T o ST 5 AT &,
Options:

1. ¥ Maintanance of local streets | T H{:‘-Eﬂ T TECE

2. % Sanitation | FoRdT

3. ¥ Agriculture & Social Forestry | §18 3T @A aTieeT
4. % Providing public health facility | TTEEF FaTET G TEM FT

Question Number : 62 Question Id : 3354725592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

what was the name of the programme introduced in Dewas district for promoting wormens’ participation at

Panchavat level. | A & 37T T U=l £q% O AT & a5 1aT & o Toll ST T T rrefepd o T =TT 7T <77

Options:
1. ® sgkhi Samrman | 99T G
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2. % INari Jagran | =T A0
Z. % Mahila Uththan | AfgAT T2
4. % Sakhi Pehal | 99 05

Question Number : 63 Question Id : 3354725593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the objective of Agri Export Zones in Madhya Pradesh 7 | Aea s # Wit wadid F19 &7 569 F417 27

Options:

1. % Export agricultural machinery | i gi=wr &7 i F=r

2. % Export agricultural technology | 0 Te@-1T @7 Taid e

3. ¥ Increasing export of a particular produce | Tt fETEeT Ieur.T & Faia § a3 @

4. % Import produces for processing and then export | JEATGT ST TEEHTRT & 60T T2 F0AT 1 e Fafa sear

Question Number : 64 Question Id : 3354725594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which district in Madhya Pradesh produces maxirmurn wheat? | e Ul &1 &1 o7 FeT siiEdas i ®7 JeueT el

Options:

1. % Hoshangabad | Siammens
2. % Harda | gaf

= # Raisen | AT

4. % Khandwa | =47

Question Number : 65 Question Id : 3354725595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tejasvini Gramin Sashlktikaran Yojana pertains to [ Soea-T T e [T F-1 e iEd o ST

Options:
1. # Providing education to rural girls | TTHT aTeETer &1 8T mame a=r

2. % Economic, Social and Political empowerment of women through self-help groups in select districts |

T Tl ® FE-Hg EdT SR o AT o Wil & ST, QAT S i o AT
= % Providing assistance for marriage of rural wormen | T AigaTent & Harg & B aganT e s
4. % Promoting literacy among rural wornen | T ATEaATT & T Q5T @1 =g 1aT o7

Question Number : 66 Question Id : 3354725596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which arnong the following states is the largest producer of groundnut in the country as in 20187 | T 2016 &
Mwéﬂﬁ%ﬂﬁﬁﬁuﬁv o I | AT ] Heldl o] JeUTGw 57

Options:

1. % Maharashtra | AERTYE
= ® Uttaranchal | Fo0=
3. ¥ Gujarat | TeR

4. % Chhattisgarh | FoETE

Question Number : 67 Question Id : 3354725597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

What is the target age group under Deendayal Upadhyay Grarmin Kaushalya Yojana? | SHeaTs JUTEAT THIT
AT AT o FaTie ST T T &7

Options:

1. ® No age restrictions | 15 I e 751
2 % Below the age of 15 | 15 o9 & %7 Ay
3. ¢ 15t0 35 vears | 15 &35 a8

4. % ibove 25 years | 35 a9 & T

Question Number : 68 Question Id : 3354725598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which cne of the following agencies conducts election to the local bodies? | FRiEFET # & &9 A7 UF g

Options:

1. % MNaticnal Election Cormrmission | T8 et s
2 % State Flection Corrnission | T4 e ST

3. % Local bodies themselves | S e #a27

4. % The Governrment | GUaN

Question Number : 69 Question Id : 3354725599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Mahalanobis Mational Crop Forecast Centre (MNCFC) is located at _________ .| HETAATTER T4 T BT Het
(TAORIEEn # e &
Options:

1. ¥ New Delhi | 7% fawat

2. % Kanpur | #-Y¢

= ¥ Indore | 32K

4 % Thiruvananthapurarn | TeeHATRy

Question Number : 70 Question Id : 3354725600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Mational Corrurission o Farmers appointed i1 2004 was chiaired b‘j.T ______ . III 2004 ﬁﬁ_ﬂfﬁ ﬁﬂ ;il LA é ]
ST ST aTerygaT

Options:

1. % Arvind Panagariva | eRide 0=,
2 ¥ M S Swarninathar | T TH qH HEH
% % Kanwal Sibal | Tdd Eeae

4. % Jagdish Bhagwati | e 9iad

Question Number : 71 Question Id : 3354725601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In India, The Tea Act was enacted in

Options:
1. ¥ 1942

2. % 1949
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3. ¥ 1953
4 # 1958

Question Number : 72 Question Id : 3354725602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
As per the livestock census 2012, conducted by Ministry of Agriculture, Government of India, India was

ranked _________ in the population of cattle and goats in the world. | TS ST 2012 % SFER, YRT TFRK &
T AFTAT EWT AT, # maitdrat o amiea! o s H IR T e _ 2

Options:

1. ® First | Ugal

= ® Tenth | T
3. ¥ Second | 3@
4. % Fifth | U=

Question Number : 73 Question Id : 3354725603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A comprehensive and integrated programnume of cattle improvernent in India, which was launched during the

First Five Year Plan was the _____ scheme. | 9T | W4t T UF AT0F 3 U igd wrws, T Ugal e i -1
& SR & T ar g T 21 e

Options:
1. ® Cattle Improvernent | et Fum

2. % Cows and Buffaloes Improverment | TR &% 96 e

3. ¥ Key Village | g0H
4 % Cornrmunity Developrment | AT @

Question Number : 74 Question Id : 3354725604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For which of the following landmark events was the recommendations of Bhuria Committee considered? |
Traferra o & o UidgTie werert @ o i aiifd &1 fwrieet o e T mar are

Options:

1. ¢ Special provision for Panchayat in fifth scheduled area | Ofoe efqRa &3 # temed & oy 6 mmerem

2. % Gram Sabha has been recognized as the foundation of the Panchayati Raj Systern | TaTed T T5 TOTHT o
AT o &0 H TTH &7 BT W7H ATl

3 ® Oﬁtmrd of the seats for wormen will be reserved in all the tiers | T Ta¢ W AfgaTT & W0 To-T98E o

4. ® Reservation for 5Cs and 5Ts to be provided at all levels in the Panchayati Raj | t=mad! T # @4l &0 0x
ST S e S S o ol ST e Fa =

Question Number : 75 Question Id : 3354725605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

At a minimurn, how frequently are Social Audits under MGNREGS to be conducted? | ~AdH, AT W ded T4
MTET W 3 Trerifea femaT =

Options:
1. ® Every month | Wed® AR
2. ® Every three months | g2 914 15

Z. ¥ Every six months | Wed® & AT
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4, % Onceinavear | @9 § UF a1

Question Number : 76 Question Id : 3354725606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the Minister for Animal Husbandry, Fishermen wialfare and Fisheries Developrnent, Cottage and Rural
Industries Departiment in Madhya Pradesh? | Bea WEa I 05 UTe, FgeTRT T a7 Aqed dwrd, Fe i a2 T
FEIT T2 T AT @ 57

Options:

1. # Rampal Singh | THIA &5

2. % Antar Singh Arva | 29 97 o

= % Archana Chitnis | s&HT Rl

4 % O Prakash Dhurve | STT0 T €fef

Question Number : 77 Question Id : 3354725607 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is Mahatrma Gandhi State Institute of Rural Developrment & Panchayati Raj located? | AgTeT Ml &
BECIes Tk &l SaeTHe U FRId T O @gl (e 2

Options:

1. % Ehopal | |
2 % Indore | T2

3. % Gualior | TEER

4. ¥ Jabalpur | S&EegY

Question Number : 78 Question Id : 3354725608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Anirmal Wellness Programume launched by Government of India in 2017 is known as? | @GR gRT 2017 #
ST Ty TR 0] FlTefepy ShTienl g iei e o AT & ST 1T &

Options:

1. ¥ Pashu Swaasthya Karyakrarm | T ST HTdey
2. % padhudhan Upachar Yojana | TIeM J0=R T
3. ¥ Pashudhan Sanjivani | WaIer &=iaxt

4, % Gau Upachar Yojana | T S0 F=-T

Question Number : 79 Question Id : 3354725609 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Indian Institute of Spices Research is located in ______ | R T AETAT ST HE (S 122 %0 Iegg ATh THEaT
fowrh) RG]
Options:

1. ¥ Madhva Pradesh | e[ 0T
2 % Karnataka | ®icd

3. % Chhattisgarh | o4 faTg

4 ¥ Kerala | o@d

Question Number : 80 Question Id : 3354725610 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Who is the target group of the programme ‘Roshni’ under Deen Dayal Upadhyaya Grameen Kaushalya Yojana

7| ST T SUTEHT AT AT FF Tgd UL FAFH T AIGT TG Fi 57
Options:

1. ® Women living in forest areas | o9 831 # 57 a1a1 AigATd

2. ¥ Youths of left wing extrermism affected areas | ITHTT JUETE & wATET S=1 & a1
3. % People living in rural areas of north-east India | Q@ RS | 15 el #70T

4 % youths of Kashrrir | F9HT & JaT

Cormnputer Knowledge

Section Id : 335472142

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472142
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_____ is a personal journal posted on the Web for access by the public. | _____ 2@ W Ulecter ZRT UFad & o 06T
TERIT THRIT A A é‘rﬂ E

Options:

1. ® Chat | o

o % Message | Haa
3. % E-mail | 5HA
4. ¥ Blog | =&t

Question Number : 82 Question Id : 3354725612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Morton 15 A /an

Options:

1. % malware | ATAEE

= ¥ anti-virus software | Tel-aE0d 9idcdaT
= # firewall program | BIoais W

4 ® ywebh browser | e g1

Question Number : 83 Question Id : 3354725613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

29th Decl7 Shift 1



29th Decl17 Shift 1

Audio files are available in formats. | =Tt BTed

_________________ TTHE H I EraT 3
Options:

1. % PNG

2. ¥ MP3

3 % THT

4 ® PDF

Question Number : 84 Question Id : 3354725614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which sign indicates for multiplication in MS Excel? | UUIH UFHa H, T 97 g 0 &1 9ha @ 57

Options:
1. ® Forward slash | B2 Ta4r

2. % Percent sign | WidaT @1 Brg
= ® Caret | ¥l (AMRErE)

4 & Asterisk | UTiEd (TR

Question Number : 85 Question Id : 3354725615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is page orientation in M5 Word 20077 | TAUT 92 2007 # U7 i 71 27

Options:

1. % 4 menu that sets the page marging and page size | T B 51 U= AT S U G185 @1 i #ar gl

2 ¥ & menu that sets the direction in which the docurnent is displayed or printed | 0% B FT SEaTe & 08 T
T T Tea T e o g

3. % A menu that sets the background design of the page | TF B 51 U & SehiT3S 115 @1 2T ®dr 5
4 % i menu for previewing the page before print out | U B0 0T 2138 & Ugd U FT TaTda o #edT gl

Question Number : 86 Question Id : 3354725616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is Internet stands for? | Sete e 70 Ug® g1aT &7
Options:

1. % Inter Metworlk | o€ Seddr

2. % Information Net | SvHTHAA =T

2. ¥ International MNetwork [ SEv-ad Ao

4 # Information MNetwork | STRIHST ATad

Question Number : 87 Question Id : 3354725617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
You organize files by storing thern in .| T ETEed W H T eer g read Fd ol

Options:

1.  Folders | Blead
2. % Archives | W=ieA
3. ® Lists | Toegd

4 % Indexes | S2FEA
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Question Number : 88 Question Id : 3354725618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which command will you choose to convert a column of data into row in MS Excel 20077 | THIE TFed 2007 H,
AT 12T o WBIcTH o1 O F ©UTa T @ oF Tl 1o HIS 0T o o7

Options:

1. ¥ Cut and Paste | &7 U9 UeT

2. ¥ Right Click > > Paste Special > > Transpose | 115 oo » > U6 T > > U
% % Home tab click > >Paste | 517 3 fFemm > > 16T

4 % None of the above | JUF § § #1881

Question Number : 89 Question Id : 3354725619 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which operation you will perform if you need to move a block of text in MS Word? | THIT a2 #, I7d o 396 &
U eelTeh @l SE-JEN of AT ATed 5, a7 1T 1T |7 HH FE07

Options:

1. % Copy and Paste | @17 0d 16T
2 % Cut and Paste | @7 U9 UeT

3. % Paste and Delete | e Ud &l
4 % Paste and Cut | U Ud &T

Question Number : 90 Question Id : 3354725620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_________ is the shortcut key used to delete a file without sending to recycle bin. | _________aTéde gt &7 JUam,
Terell g T TereT Teams fore feiet & wg=my T2eite @t o foiny e =T 31

Options:

1. ¥ CTEL+ SHIFT+ DEL
2. % ALT+ DEL

%, % SHIFT + DEL

4 % CTRL +DEL

Question Number : 91 Question Id : 3354725621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ASCII stands for: | ASCI FT 0l #7 8

Options:

1. % Asymmetric Simple Code for Internet Interchange | AEHREF WA $1E TR ST sai=q

2. % American Simple Code for Internet Interchange | STHET @IS TS FBX Soi-e Beta

= ¢ American Standard Code for Information Interchange | SHET T2 HIE B T7EHIT Satz

4. ¥ Azymmetric Standard Code for Information Interchange | SEHEF 322 g B TRTHA Seioa

Question Number : 92 Question Id : 3354725622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT an exarmple of application software? | Torg # & 7 U Ura e |ATFeaaT @ Ja 150
T E?

Options:

1. ¥ Word processing | o2 W&
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= ® Database | TR
3. ¥ DOS | 2Tt
4. % Spreadsheet | =T

Question Number : 93 Question Id : 3354725623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The default paper size of a Word docurment is: | TF 98 STFIHT &1 18hTee U A5 9 51T &

Options:
1% A1
= W Aad
3. % A3
4 % A2
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 94 Question Id : 3354725624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The servers which COI‘lfingI"ES to provide conrecting link between two distinct networks using different

protocols or services are knowr as: | o He § A7 [eleg A IhTe o7 Harstl & Judi #ed §U &7 SIeHT-ST6T "eadd & 7eg
T e 1T ol Wt @Y o Tol] S 1=IhTIE ShedT 51 59 199 & &0 H AT AT &

Options:

1. % Member server | Hra¥ Tt

2. ¥ Gate ways | TT o

3. % Applications server | Utelldrad Ha¢
4. % Firewalls | BRRGIHA

Question Number : 95 Question Id : 3354725625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who provides the facility of mail servers to people? | S0 H w19, AT &1 Hel Foid @i Giordl TG FaT 57

Options:

1. % Your supervisors | S0 gUaTET

2 % Universities | faraicemeg

= % Your colleagues | ST GEAT

4. ¥ Big companies like Google, Yahoo, Rediff, etc. [ 10T, =75, 12w SoaTie & A€l arS T duf-rar

Question Number : 96 Question Id : 3354725626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The shortcut key used to edit the selected cell in MS Excel is: [ THUS Uwde #, Heide &1 T2 el BT Uiz 7o & Ty fog
it gt g &

Options:

1. ¥ F2

2 #% Fg

3. % F7

4 % F11
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Question Number : 97 Question Id : 3354725627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the spacing between the lines in the M5 Word called? | TAUE T2 H ATE1 & slie & STTCT ® 47 Fgd 57

Options:

1. # Vertical spacing | =i e eiw
2. % Double space | Sad T

3. % Single space | A w0

4. ¥ Line spacing | @Tg- &

Question Number : 98 Question Id : 3354725628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ir1 order to mowve from one sheet to another in M5-Excel workbool, one should clicls | THOE TFad qcﬁg_m pler

dfte & gait ofite W S & o, T o T e g
Options:

1. % Active cell | Ufged 94

2. % Scroll bar | FRA 0

3. ¢ Sheet tab | ST 39

4. % Tab button | T T2

Question Number : 99 Question Id : 3354725629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to g%gl biold for the selected text in Excel? | Tede § Sede [O907 T 1667 U dies AT
e B 7 AT 6 e 5 oeTE T 57

Options:

1. % Ctrl + ¥
2 ¥ Ctrl+ B
3% Ctrl+ C

4 % Cirl 4+ P

Question Number : 100 Question Id : 3354725630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Storage devices that use magnetic tape as its method of reading and writing information is known as: | 9§

=i L ST HUTew T W U AT @ U A o d e aeew o &0 H @ 1 8, T weamd ! g
Options:

1. ® Cloud storage | FAMES 20

2. % Optical storage | 2w w2

3. ¥ Magnetic storage | AURRE =T

4. % Paper storage | U0 w2
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